
0BSOLUCIONES DEL XXI CANGURO-2014 

La respuesta a la pregunta 23 de nivel 2 es D y no A como se puso por error. 

 

2014 SOLUCIONES  

Preg. nº Niv1 Niv2 Niv3 Niv4 Niv5 Niv6 

1 C C D C B C 

2 D C D B A C 

3 D C A D E B 

4 A A B A A C 

5 A C E C C E 

6 D A E B A E 

7 B A B C B E 

8 B B E E B D 

9 B A B B E D 

10 C B D E C C 

11 E E E C C A 

12 B D B D C B 

13 D B C A B B 

14 B B E E D C 

15 B C E A A D 

16 D C C A E D 

17 A A B D E A 

18 D D E C C B 

19 E C D E D A 

20 A D A B C C 

21 D B E A D E 

22 A D D C D D 

23 E D B C D E 

24 C D D A B A 

25 E A C A C D 

26 D D A C C A 

27 B D B D B C 

28 C E C D E B 

29 C C A D B D 

30 E D B E C D 
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